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== Data
Fitted Curve: tau=543.41+0.22,

A=68.37+£0.02, B=82.98+0.02

Resistance (Ohm)

150

2000 3000 4000
Time(s)

Heater Element 5

140 A

130 A

120 A

110 A

100 ~

90 ~

80 A

=== Data
Fitted Curve: tau=545.35+0.28,

A=65.61+0.02, B=81.25+0.02
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= Data

Fitted Curve: tau=539.09+0.20,

A=67.36+0.02, B=80.87%0.02
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=== Data

Fitted Curve: tau=568.39+0.31,

A=67.59+0.02, B=78.70%+0.02
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= Data

Fitted Curve: tau=546.68+0.24,

A=72.15x0.02, B=83.41%0.02
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== Data

Fitted Curve: tau=555.83+0.30,

A=67.16+0.02, B=77.27+0.02
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== Data
Fitted Curve: tau=546.07+0.25,

A=67.67+0.02, B=78.66+0.02
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. Fitted Curve: tau=547.18+0.30,
A=68.85+0.02, B=82.30+0.02
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